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 B. Com. (Part III) EXAMINATION, 2021 

(Optional Group A—Finance Area) 

Paper First 

FINANCIAL MANAGEMENT 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- foŸkh; izca/k ls vki D;k le>rs gSa \ foŸkh; dk;ks± dk vU; 

O;kolkf;d dk;ks± ls D;k lEcU/k gS \ 

What do you understand by Financial Management ? What is 

the relationship of finance function to other business 

functions ? 



 [ 2 ] E–3057 

 

vFkok 

(Or) 

foŸkh; ;kstuk ds vk’k; dks Li”V dhft,A ,d Js”B foŸkh; ;kstuk ds 

y{k.k D;k gSa \ 

Explain the meaning of financial plan. What are the 

characteristics of a sound financial plan ? 

bdkbZ&2 

(UNIT—2) 

2- iw¡th [kpZ ctfVax dh izdf̀r o vo/kkj.kk dh O;k[;k dhft,A bldh 

vko’;drk ,oa egRo dk ijh{k.k dhft,A bldh O;kogkfjd 

mi;ksfxrk D;k gS \ 

Explain the nature and concept of capital expenditure 

budgeting. Examine its need and importance. What are its 

practical utilities ? 

vFkok 

(Or) 

laxhrk fy- viuh lEo)Zu ;kstuk ds vUrxZr ,d u;h e’khu [kjhnuk 

pkg jgh gSA bl mís’; ds fy, mi;qDr nks e’khusa gSaA mudk fooj.k 

vxzor~ gS % 
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 X e’khu  

¼`½ 

Y e’khu  

¼`½ 

iw¡th ykxr 6,00,000 6,00,000 

fcØh 10,00,000 8,00,000 

mRiknu ykxr %   

izR;{k lkexzh 80,000 1,00,000 

izR;{k Je 1,00,000 60,000 

dkj[kkuk mifjO;; 1,20,000 1,00,000 

iz’kklfud mifjO;; 40,000 20,000 

foØ; ,oa forj.k ykxr 20,000 20,000 

e’khu ^,Dl* dk vkfFkZd thoudky 5 o”kZ vkSj ^okbZ* dk 4 o”kZ gSA 

vo’ks”k ewY; Øe’k% ` 60]000 o ` 40]000 gSaA e’khuksa ds lEiw.kZ 

thoudky esa foØ; mlh nj ls gksus dh mEehn gS] tks n’kkZ;h x;h 

gSA izR;sd e’khu ij gksus okys O;;ksa dks gh ykxr n’kkZ;k x;k gSA 

izR;sd o”kZ dh vk; ij 50% dj nsuk gSA iw¡th ij C;kt 10% 

izfro”kZ dh nj ls nsuk gSA 

is&cSad vof/k ds vk/kkj ij n’kkZb;s fd dkSu&lh e’khu lokZf/kd 

ykHknk;d gksxhA 
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Sangita Ltd. is considering to purchase a new machine for its 

expansion programme. There are two possible machines 

suitable for the purpose. Their details are as under : 

 X Machine  

¼`½ 

Y Machine  

¼`½ 

Capital Cost 6,00,000 6,00,000 

Sales 10,00,000 8,00,000 

Cost of Production :   

Direct materials 80,000 1,00,000 

Direct labour 1,00,000 60,000 

Factory overheads 1,20,000 1,00,000 

Administration overheads 40,000 20,000 

Selling and Distribution cost 20,000 20,000 

The economic life of machine X is 5 years and that of 

machine Y is 4 years. The scrap values are ` 60,000 and  

` 40,000 respectively. Sales are expected to be at the rates 

shown each year during the full economic life of the 

machines. The costs relate to annual expenditure resulting 

from each machine. Tax to be paid is expected at 50% of the 

net earning each year. Interest on capital has to be paid at 

10% p. a. Show which machine would be the most profitable 

investments on the basis of payback period.  
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bdkbZ&3 

(UNIT—3) 

3- ^iw¡th dh ykxr* ls vki D;k le>rs gSa \ fofHkUu lzksrksa ls izkIr iw¡th 

dh ykxr dk fu/kkZj.k vki fdl izdkj djsaxs \ 

What do you understand by ‘Cost of Capital’ ? How will you 

determine the cost of capital from different sources ? 

vFkok 

(Or) 

,d u;s mRikn ds fo”k; esa fuEufyf[kr iwokZuqeku gaS % 

le&foPNsn fcUnq  20000 bdkb;k¡ 

foØ; ewY;   ` 70 izfr bdkbZ 

ifjorZu’khy ykxr ` 50 izfr bdkbZ 

mi;qZDr iwokZuqekukas ds vk/kkj ij 25000 bdkb;ksa rFkk 30000 bdkb;ksa 

ds fy, ifjpkyu mŸkksyd Kkr dhft, rFkk mRiknu ,oa foØ; ds 

nksuksa Lrjksa ij yhojst ds vUrj ls mi;qDr fud”kZ fudkfy,A 

The following estimates are for a new product : 

Break-even point 20000 units 

Selling price  ` 70 per unit 

Variable cost  ` 50 per unit 
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Calculate operating leverage from the above estimates for a 

volume of 25000 units and 30000 units and draw a suitable 

reference from the difference in operating leverage for the 

two output levels. 

bdkbZ&4 

(UNIT—4) 

4- ^iw¡th <k¡pk ls vki D;k le>rs gSa \ dc bls vuqdwyre dgk tk 

ldrk gS \ 

What do you mean by capital structure ? When should it be 

called optimum ? 

vFkok 

(Or) 

ykHkka’k dh ifjHkk”kk nhft,A ykHkka’kksa ds fofHkUu izk:iksa dh O;k[;k 

dhft,A 

Define dividend. Explain the different forms of dividends. 

bdkbZ&5 

(UNIT—5) 

5- dk;Z’khy iw¡th izca/k ls vki D;k le>rs gSa \ dk;Z’khy iw¡th esa deh 

vkSj vkf/kD; ds [krjksa dks crkb,A 

What do you understand by Working Capital Management ? 

Enumerate the dangers of deficiency and surplus in working 

capital. 
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vFkok 

(Or) 

dk;Z’khy iw¡th ds vFkZizca/ku ds fofHkUu lzksr dkSu&dkSu ls gSa \ 

nh?kZdkyhu lzksr ds vUrxZr Lokfexr lzksrksa dk o.kZu dhft,A 

What are the various sources of working capital financing ? 

Describe the owned sources under long-term sources of 

financing. 
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